L |

Fisheries and Oceans
Canada

Canadian
Coast Guard

Péches et Océans
Canada

Garde cotiére
canadienne

ANNEX C— CONTRACT DRAWINGS



EXISTING PROPANE CABINET
TO BE RELOCATED

HANDRAILS ON WALKWAY
AS PER DETAILS, TYP.

LOCATION OF RELOCATED
\\_umo_u>z_m CABINET

\\

WALKWAY

STEPS AS PER DETAILS, TYP.
C200x28

L8Ix76x9

2460+

W410x39 TYP.

TOWER ABOVE

7

T iy

A

| _——2-1102x102x9.5 SPACED EVENLY, 2—3/4"
BOLTS AT EACH END AND WHERE CROSSES
DIAGONAL BRACING, CUTBACK VERTICAL LEG AS
REQUIRED TO ACCOMMODATE CONNECTIONS,
PLACE STEEL PLATES BELOW AS REQUIRED TO
ACHIEVE REQUIRED HEIGHT, TYP.

———GRATING PLACED ON EXISTING
STEEL BEAMS AS PER NOTES

W530x66

/rz_m<< PROPANE CABINET
MATCHING EXISTING

2370+

[ T——HANDRAIL ON PLATFORM
AS PER DETAILS, TYP.

2500+

TOWER ABOVE ———

5580+

PLAN VIEW:

HELIPAD WALKWAY
SCALE 1:50

HANDRAILS ON WALKWAY
AS PER DETAILS, TYP.

HANDRAIL ON PLATFORM
AS PER DETAILS, TYP.

525+

| ———GRATING PLACED ON EXISTING
STEEL BEAMS AS PER NOTES

PLATE AS

ELEVATION VIEW:

HELIPAD WALKWAY
SCALE 1:50

75mmx200mm BASE
PLATE AS PER DETAILS

N —1
[
2-3/4” BOLTS, 2 NUTS ~o

2 WASHERS, .j:u.\
75mmx200mmx6.4mm BASE

S5 TYP.

o 3Bmmx38mmx6.4mm
GALVANIZED STEEL POST

AND RAILINGS, POSTS AT

MAXIMUM SPACING OF 1000

HSS 51x51x4.8 WELDED TO
ANGLE, 1—-3/4" BOLTS, TYP.

W/._.Om BOARD TO ANSI 1264.1—2007
SPECIFICATIONS MINIMUM 89mm

1100

550

| I

.mamo:.__): _.OZO\_W ._.>_._.x®¥33._._.__ox
2-3/4" BOLTS, TYP. /mx_m._._zo C200x28

RAILING DETAIL
ON WALKWAY

SCALE 1:25

3Bmmx38mmx6.4mm

u GALVANIZED STEEL POST
AND RAILINGS, POSTS AT

MAXIMUM SPACING OF 1000

HSS 51x51x4.8 WELDED TO
\\\\\\\1nr>qm_é|éu::5 BOLTS, TYP.
4. TOE BOARD TO ANSI 1264.1—2007
r SPECIFICATIONS MINIMUM 89mm
/QP x 6.4mm THICK

GRATING PLACED ON
EXISTING STEEL BEAMS
AS PER NOTES

™ EXISTING W530x66 OR W410x39

RAILING DETAIL

ON PLATFORM
SCALE 1:25

1100

550

TOE BOARD TO ANSI 1264.1-2007
SPECIFICATIONS MINIMUM 89mm
TALL x 6.4mm THICK

| —HSS 51x51x4.8 WELDED TO

PLATE, 1-3/4" BOLTS, TYP.

°

PER DETAILS

RAILING BASE PLATE
PLATFORM
SCALE 1:10

m 0

1:50 == _=_=_= ,

0.5m 0

Design By:

J.P.J.

Checked By: A.LR.

engineering better communities

Department of Fisheries Date PROJECT Nc
and Oceans Canada March 6, 2019 18291
LL620 Helipad SCALE DRAWING Nc
Details As Shown 20f2




NOTES:

>
EXISTING PROPANE CABINET -, 1. Structure to be built in general accordance with
TO BE RELOCATED T the latest revision of the Ontario Building Code
and applicable material specifications.
2. Hot dip galvanize to ASTM A 123 after
fabrication.
l 3. Contractor shall check all dimensions in the field
with the working drawings and report
/ discrepancies that may have an impact on the
WALKWAY design to the Engineer.
> 4.  Grating to be galvanized steel, design load 3.6
kPa (SLS) with hold down clips at 600 cts.
T & Borden pressure locked grating, type B 19-P—4
2460+ MWMWMWMW or accepted equivalent on steps. Borden
9HD13—4 or accepted equivalent on platform.
Installed as per suppliers recommendations.
2500+ 3580+ |~ 23704 5. Design criteria Loads:
lce Accretion 30mm
STOP SAFETY NETTING ON EAST SIDE OF Ee8 Live Load 3.6kPa
OOZﬂ__wm<O<._."un_w7ﬂ._._Uum.__w\h\___..mZ>mﬂ%|_.n_v=m_mﬂ__.muxmm>._.__wﬂm 6. Galvanized steel toe board shall be minimum
FERRULES AND acm_ﬂ_wcox_.mm 10 SUIT 89mm in height securely fastened in place, with
not more than 6mm clearance above floor level.
7.  Structural steel sections and plates to CSA
G40.20/G40.21, Grade 350W.
>
>
= 8. All metric dimensions in mm unless noted
otherwise.
9. Unless specified otherwise, all bolts used to
connect structural elements shall be 3/4”
_U_I>Z <_m/>\ galvanized bolts and shall have two nuts and two
EXISTING washers.
SCALE 1:100
C180x18 STRINGER, TYP.
GRATING PLACED ON
EXISTING 3/8" ALUMINUM ANLGES FOR STEPS, TYP.
CHECKERED _u_.Em/ L102x102x13 TO SUPPORT GRATING BOLTED TO
STRINGER WITH 3—3/4” BOLTS EVENLY SPACED, TYP.
125x75x13mm THICK VERTICAL STEEL PLATE 300+ C180x18 STRINGER, TYP.
WELDED TO STRINGERS, BOLTED TO EXISTING AI« GRATING PLACED ON ANLGES
C200x28 WTH 2-3/4" BOLTS =] = 3 EQUAL L76x76x7.9 220mm LONG, TYP. FOR STEPS, TYP.
EXISTING C200x28 RISES, TYP, Y
2-3/4" BOLTS, TYP. 125x75x13mm THICK VERTICAL STEEL PLATE | |
EXISTING mv>omx\ / WELDED TO STRINGERS AT TOP, BOLTED TO _ 900 /_
O%_.m»%._ZOOZ ._.%_uow_,.._w_mw_umw m_._.m<m_n_w ] -\lom>._._zo PLACED ON EXISTING STEEL EXISTING C200x28 WITH 2—3/4" BOLTS
E.@\ £5 BEAMS AS PER NOTES = =
$E——————— »-3/4" BOLTS, TYP. INTO TOP FLANGE OF o o
EXISTING W530 mm\ EXISTING BEAMS PLACE ADDITIONAL 150X150 u.vl
X STEEL PLATES TO LEVEL AS REQUIRED. L102x102x13 TO SUPPORT GRATING BOLTED TO
$ ADJUST BOLT SPACING AS REQUIRED. STRINGER WITH 3-3/4” BOLTS EVENLY SPACED, TYP.
== SCALE 1:25
ELEVATION L
SCALE 1:25 1:100 20 Sp 4 Sm
Department of Fisheries Date PROJECT Nc
g—ﬂo m m and Oceans Canada March 6, 2019 18291
. engineering better communities LL620 T_m__UNQ SCALE DRAWING Nc
Design By: J.P.J. Checked By: A.LR. General Arrangement As Shown 10f2




inches

pouces

REPORT ANY ERRORS OR OMISSIONS TO ILS MANAGER

A

File / Fichier: HELIPAD NETTING DRAWING.DWG - Printed / Imprimé: 2018/09/18 1:9

CADPF,;RO%DU?TCERQS%V'NG fl T ; Y ? e gy ? SIGNALER LES ERREURS OU LES OMISSIONS AU GESTIONNAIRE SLI
11664 I*I Ei:::g:s and Oceans (F:'«zigzsaet Océans
/ S-Hooks ggg’:{j}gﬂard g:;d;difgi\ze
I Vendor / Sous-traitant
l=—1170 1332 1332 1332 1332 1332 1332 1332 1170 —=| 7 -
11|70 1170 a /
| :
C [=—1332 1332 1400 1332 g 1332 9 4
‘ o -] o
100
1000
1332
1220
l i HELIPAD
AI:V 170 H H
> L Ll Safety Net Orientation
—| 580 [=—1332 1332 1332 Y| 1332
2700 ER f ae48 3
1332 1332
1332
65x65x10 Angles (TYP.)
we | 4384 | i
? o o o o ?
| |
1332 1332
1170 1170
— 1170 —j=—1332 1332 1332 1332 —1332 1332 1332 1170 —=
TURNBUCKLES
1 Helipad Safety Net Framing Layout HELIPAD
Typical Safety Net Framing Detail o [oEscrpTion o
4 rev description é’!r date
Asset - Actif
Colchester Reef
I
1000 LL620
Drawing - Dessin
65x65x10 Angle Helipad Safety Net
2 * 65x65x10 Angle
A designed - conception date
12mm Holes TYP. DESIGNED YYYY-MM-DD
drawn - dessiné date
M16 Bolts (TYP.) MF 2018-09-13
checked - vérifié date
——10x125x150 Plate CHEGKED YYD
approved - approuvé date
Typical Angle Connection Detail APEROVED YYVAOD
CCG ref. no. - no. réf. GCC scale - échelle
2 REF NO / PROJ NO / FILE NO N/A
drawing no. - no. dessin sheet-feuille| rev
E 01/01 0

0 1
millimeters

7. ., 8
millimétres

ANSI B




183°00
— 42°00 +— -
25
25
25
27 2
28
! Grecian Shoal %:, 9 X ?G" N 24 v i
- 29 28 - - P 5 2@ 24 26 e o i
. 29 . N 0 |
i o 2 28 29 ) |
!m = 29 23 27 ° 30 0 . 3u o
| °9 25 36 Ee o
: ElY - ' v
| 3,9 30 a0 ‘
- 30 i 30 e
! S;sgugm Har Stake 40 ) 1o
" 30 oh 4n kR
| 30 30 31 3 32
I Colchaster Re My secBansM . if 33
: " . a3
E 3l ' k 32 33 13
| _\—LOCATION OF =
| T HELIPORT '& PIER *
: 3 3l 33 33 13
V M A3 i4
LR 3 A '*1
REF. HYDRO CHART # 2i83
1 t + t — '
1000 Q 1000 2000 3000 4000 5000 g2° 50
SCALE IN METRES .
42°00
MAGNETIC
biwoam
TRUE 129
NORTH '
HELIPORT AND
SAFETY NET
€ TR EXISTING
d v F PIER
NI
-y
|
|
I
¢
NTS.
4832 e 4832
-
¢
SAFETY NET
/ | SEE SHEET 3
’ 1230 1230 ALUM. DECK
/ HELIPORT
SEE SHEET 283

STIFFENER

GIRDER

EXISTING PIER

SECTION ‘A-A'

1:50

I'm SAFETY NET

AROUNO HELIPORT
SEE SHEET 3

|12° — =

9664

HELIPORT FOR BELL 212
SEE SHEET 283

i ' . ] i
B ACCESS LADDER \ /
SEE SHEET 4 ’\// N v
\ N\ -
\ Ay Y
T Y "
- \ ]
| : 5
\ o
FOR HANDRAIL ARGT AND | X r
. DETAIL SEE SHEET 3 pmn N ]
N
RED N \ \ — - 2
4 N \ =
—— \ :
B ) i ]
! L o
. ! / | o
| [ 2375 450 PIER BENCH /
2 l yMARK Z 3
- 3 | % ¢
| o
\ | t— — — . m
| o
®—— BRACING \ BRACING]
A T !
c GIRDER—/ \ N ﬁ R C
\ NN o
] — -
EXISTING PIER \ g\ i DECK
FINAL TOWER /| REF. DWG. No. AR- 14676 10 —
‘i’ l_—“k' \ !
POSITION ‘B I_/ i
PRESENT LOCATION N 2
OF EXISTING STEEL \ N
TOWER <0 < — - - —
\
x , |
u;J B — . \L ‘ I N
\ I
° . L; | -
b © | | 1 1
oy — |
B | |
— B~ - ] _
| | b - £ =
| EXISTING | |} o A
r \ LADDER X (<~ DAYMARK n} STEEL WORK
/ | NORTH SiDE | — —; \11 CEMPORARY TOWER * B SEE SHEET 2
J —_] = \ L] » u‘
EXISTING TOWER ] P | POSITION ‘A
2400 SQ. 3000 .
REF. DWG. Nos.
AR- 14676 Tﬁ——f'——f—fl——“— T 1 —._LAN—
BR- 14675 i I ! 1:50 o
[ ~ o S —— EXISTING TOWER w
) ' | % ; r_ - = 64 -
I | o -1 HELIPORT
: ACCESS LADDER B
HANDRAIL It | | SEE SHEET B | : ‘
SEE SHEET FH I = _ bageg | 3582 e 8400 s 3632 - SAFETY NET
Ul G — SEE SHEET 3
| | P | | 2368 1200
| !
o ) I | WALKWAY ”
£L.101.00 | FromEr e Q‘E&ﬁ:
yee m+-_-_-—1 t oy # T ! " |l'
J— e e | L - /-]:N #\ -
EL. 100 Om (SEE ! \
oROP SR - R REMOVE EXISTING DAVIT AND ALL
: - SO B L s S ) HANDRAILING FROM AROUND PIER
GIRDER ;
l \ ' SLIDING ANCHORAGE
' " i B
! GIRDER — =
- 2460 | EXISTING PIER N Yo ]
! '
. . - —— s lf:9030 - . - 7 - _ N R
END VIEW B8-B C/L_ANCHORAGE EL.97.70m N - TENDER FINAL 74 83—
1:50 FOR ANCHORAGE DETAIL » - - TENDER PRELIMINARY 0B/03/83 |CFE:
SEE SHEET 5 AN T —1
N’ W SECTION 'c - C' No. REVISION/MODIFICATION DATE |BY/PAR
" N
@ o 1:50 TRANSPORT CANADA TRANSPORTS CANADA
NOTE : CANADIAN COAST GUARD GARDE COTIERE CANADIENNE
REF: CHART 2813 {L MARINE AIDS DIVISION DIVISION DES AIDES - MARINE
CHART DATUM = 1733 m (IGLD) R
JOB DATUM = [00.0 m |
(ASSUMED CENTRE OF PIER) HWL EL. 174.6 m | . LL620 COLCHESTER REEF , LAKE ERIE ONTARIO
ALL ELEVATIONS {EXCEPT WATER LEVELS) i N\
REFERED TO JOB DATUM. LWL EL 1733 m | HELIPORT
(CHART DATUM) f GEN. ARGT , LOCATION & KEY PLANS
! - - . |
; DESG D/CONCU Dcpr / |CHK'D/VERDCIK V. |SCALE/ DWG/DESSIN SHEET/
’//Z DRAWN / DESS UB'D/SOUMIS 1§\ as " ) OF 4
DATE NOV. 82  |APP'D/APPR SHOW CR-15680 OE °




. .Y

—MAX. MOMENT =11 kN-m

MAX. SHEAR =9 kN

- F
9664
OF PIER
HELIPORT | | EXTERIOR BEAM
OF HELIPORT | C W10 239 G MAX. REACTION = 76 kN FOR W 410 x 39
_______________ ~_ ____—: (TYP) !
| FOR SAFETY NET g
I SEE SHEET 3. —» =
| i
A 1] " l
|0 - ALUM. STIFF B's 3/8"x 150 x850LG. APPROX. 850 ¢/c | o
| 2]
FOR WALKWAY SEE SHEET 3. | INTERIOR BEAM o~
| l- MAX. REACTION = 86 kN FOR W4ID0x 39
€200 x 28 I
MAX. AXIAL COMP i s :§ t§
a LOAD = 145 kN (TYR) | § Q 3 §
E SHEAR = 5 kN | o o ; =
C 200 x 28 (FOR ALL DIAGONALS) | * *
B - B - R fl \
— CONNECT HELIPORT BEAMS TO MAIN GIRDER Q
B o B AT THE SIX CONTACT POINTS o
- BENCH MARK <
¢ OF PIER o = | . _ ¢ | I
145 — — 8
b 4
2 O
T
z <
¢ OF TOWER ! |
MAX. AXIAL COMP i { —-2—AFI?_UM. STIFF [sT3/B :|50185g LG. , Q
LOAD = 253 kN (TYP) | PPROX. 8OO ¢/. (TYPICAL FOR ALL BAYS) N
A SHEAR = 47 kN | ,
‘ 1\__ - _) — /’ L
| -
| - - - Q|
[\
| - - o
| ] B i
I
I o
| o
| &
___________________________ 4 -  {
/ | C 3/8"  ALUM. CHEQUER R, FOR DETAIL SEE SHEET 3. —
4832 4832 -
et
| PLAN OF MA'N GlRDER PROVIDE CAMBER OF 12 mm AT END OF HELIPORT GIRDER RELATIVE TO SUPPORT
150 . oo N PLAN OF HELIPORT
. AlL 3. FOR SUPPORT WITH BEARING SEE DETAIL 2.
SPACER (TYP) FOR FIXED |SUPPORT SEE DETAIL 3 £OF PIER OF HELIPORT oo - 50
. . m
e —— e e e e P e e e e ======"'—""=====:‘s========= e R A = A e
o - | (TOP OF STEEL) JOINT IN CHEQUER R TQ BE OVER BEAMS
ﬁ e /’i_?v\ jr T JI[ TIT III :IT T JI/{' II{ rI
Z ¢ OF TOWER Li i ALUM. STIFF R_{TYP)
> [J68 DATUM) MACHINE SCREWS FOR CHEQUER @ | | l
+ / @ 250 c/c (TYPR) ! |
4 4 - ' | | EL. 100.00 m
{JOB DATUM]
i 1248 | 248 N Ll 2368 - 4832 1200 + @ I
= S i bl - y 1 -
2| 7011 2496 _‘\‘\ | 8400 3632 83 . p
il L T | ST A | ¢_ L4
\\\ 18263 )

+|li+l = |+
127 I \%\
+ | + + 4

1230 =!= 1230

2460

L—w 200x 36 (TYP) - PROP MEMBERS
MAX. COMP LOAD= |16 kN {TYP) —

~———MAX. COMP LOAD = 40! kN (TYPR)

END VIEW A-A

I 50

}
/LI.
LB

2-M24 BOLTS WITH
HEX NUTS AND WASHERS

%

DETAIL 3.

3

-

1: 20

oY

8

EL. 9770 m_{(§ OF

ANCHOQRAGE )

-

4742

DIMENSIONS TO BE VERIFIED IN FIELD
8400 (@ 15°C)
TYP‘>_6l>_\ |
< +
\ i - 2 - STIFF R 12
1’
I MAX. COMP LOAD = 47T kN
MAX. SHEAR LOAD =115 kN

—2-STFF R.12
4

NON - SHRINK GROUT ——

(25 mm)

SUPPORT R 20x 370 x370
L e

Q

|

|
I
) §
—-‘-ri—ij— ’

W 3l0x 97
26 DIA. HOLES FOR M24 BOLTS

SECTION 0-0

|:20

D

Z =\

t——W 310 x 97 - STUB COLUMN v

v oLl

a7
NTS)

VY

il
el

—

400

DETAIL 2.

200 _\-—4 - 30 DIA. 3 UNIT CINCH ANCHOR BOLTS

x» B850 LG. FOR DETAIL OF SITEWORK TO
SUPPORT ANCHORAGE SEE SHEET 5.

_;L';‘Lr._j/}_af

400

200 |

: 20
0

|

|

SECTION Vv-¥ TYPICAL FOR ALL SUPPORTS.

4« $

{3}./?/%_———‘!&’3@ x97
|

—+——BASE F 25x520x520

4 - 34 DIA. HOLES FOR ANCHOR BOLTS

SECTION V-V

20

SECTION

K B

B-B

1: 50

A

520

—— FOR DETAIL OF SITEWORK TO PROP ANCHORAGE SEE SHEET 5.
BASE PLATE SIZE AND LOCATION TO BE DETI%RM!NED FROM

SITE DIMENSIONS. (SEE NOTE 'A") 3- 22 DIA. HOLES IN STEELWORK FOR

TOWER BASE R

¢ OF TOWER,

R
| N I R
o ~

TYPICAL FOR ALL 4 EXISTING BASE R's
{ DIMENSIONS TO BE VERIFIED IN FIELD

- BY CONTRACTOR)

<)

\r\—
BATTERY BOX SUPPORT R 8x8C0x2496

SITE BOLTED TO STEELWORK

-
l°
T
|
Lo

ARGT OF EXISTING TOWER BASE PLATES

2 - 26 DIA HOLES

SEAL WELD

i
-

2-5LOTS 26 x45L6.
T BEARING - 25x 254 x 457 - 25x146x 406

¥4 -KEEPER BARS

N.T.S.

W4I0x39—+—

W530x66
== %

——-STIFF R 12

AND ELASTOMERIC WASHERS

W 310 x97

2 e A
SLOTS

SECTION E-E

CAP B 25x370x 470

2-M24 BOLTS WITH HEX NUTS, WASHERS

ELASTOMETAL SLIDING STRUCTURAL
BEARING, TYPE |. E-42-A. OR EQUIVALENT

NOTES:

{. STRUCTURAL STEEL:

TO CSA G40-21-M 98]

GRADE 300 W.

TRUCTURA T WASH :

TO ASTM A 325 -76 C (GALV)
3. GALVANIZING:

ALL STEEL 8 FASTENERS HQT - DIPPED GALVANIZED AFTER FABRICATION

IN ACCORDANCE TO CSA STANDARD G 164 - M198] UNLESS OTHERWISE

NOTED.
4. WELDING:

TO CSA W53 - 1977 UNLESS SPECIFIED OTHERWISE. MANUFACTURER TO BE

GQUALIFIED TO CSA w472 -1978.

5 WELDI

TR

TO CSA wa8:| - 1976.

6. ALL LOADS AND REACTIONS SHOWN ARE FACTORED LOADS IN ACCORDANCE
WITH CAN3 - 516.1 - M78. CONTRACTOR TO DESIGN SUITABLE CONNECTIONS.

ATE

7. cH PLATE BOLTS:
STAINLESS STEEL - I18-8
8. ALUMINUM CHEQUER PLATE: TO CSA H4A - 1975 - 606IT65.
~ | tewnoer FNAL 17483 s
f TENDER PRELIMINARY 08/03/83 |A.

No REVISION/MODIFICATION DATE |BY/PAR
TRANSPORT CANADA TRANSPORTS CANADA
CANADIAN COAST GUARD GARDE C6TIERE CANADIENNE
MARINE AIDS DIVISION DIVISION DES AIDES - MARINE
LL620 COLCHESTER REEF, LAKE ERIE, ONTARIO
HELIPORT
STEEL ARGT. & DETAIS.

‘)Esc'o/coucu Dok |CHK'D/VERDEK VR ([scaLeE/  |DWG/DESSIN SHEET/
RAWN/DESS A.W. |suBD/soumis j  |ECHELLE |N¢ CR-I15680 TR
E LT AS SHOWN 2 pe°

DEC 21, 82 APP D/APPR




12° ———a

- | 11664 ]
FOR ACCESS LADDER - 4500 >
SEE SHEET 4, A PPROX.
"S" HOOK CLIP |
NOT REQUIRED \ | _
\ } + g Wi gty i, i g } ‘ !
= e S mean |
O 4 | TN I @]
NO_TURNBUCKLES = _ 4'"*"1 p 170 4 T e SEE DETAIL | .
IN THESE AREA - " S sl s e ' e =
T S0 \ | ‘
\ — ¥ ) 7| jl— — i
HANDRA L o Tn T Gl | % ALUM CHKD R 3/8" ALUM. CHKD. R..
SEE DETAIL 1880 1332 | 400 N, —|1332 170 [ﬂ 11 |
- / I "‘r\ -re b N RN i : WALKWAY — HELIPORT
Y ' 4o s | : _\
—— - ok -l e aieiiay | o ‘
T 3™ | st | D e
E'--—TL ! L.._.h H — \ - ‘ n‘ & A — I
e | \ 6 x50 DIA. NEOPRENE WASHER WITH
- ] : \ / 14 DIA. HOLE .
| p—— —C c i STIFFENERS : \ :r
o - o ALUM. B 3 x 150 850 ¥
N — SPACERS o FOR LOCATIDN SEE SHEET 2 S
o . : " | Mi2 S/ST. COUNTERSUNK FLAT
; ) R 1 P ' | | | €200 x 28 HEAD MACHINE SCREWS WITH
’ mmi ; ! HELIPORT | ‘ pid | HEX. NUT AND WASHER .
pree \ , "- ?
o 1] ~ 0 ‘
- N =il —Y / - 1
1 ; j . : A
| —i T - ¢ |weeont a j&iﬁ% — DETAIL |
A | | ~ | PIER | =
0 e : *
o @O | ! | | ] NTS.
: A - T i g | | SECTION C-C
: -l g B g ‘ 1120
‘ M~
- o~ ! oo T
o [ | ‘ - . "
| FET
g : | | HANDRA IL | | L SEFETY
\ | L ; SEE DETAIL BELOW | 4o [
202 8 1332 1332 | hi3zz T [T7° = - ! | o IR
> Lt g 1 ol o ; ‘ T
p a o } T —_—
- 1248 - § 2% }% ﬁ d ; g | \\h\\\l —
- S 2 1 a T B - il B | o | WALKWAY e
- _J 4 . 1 ! i ‘ B IR
o + . L) + - -+ [ -
> i i N ! i ! | | -
\ S N B | . - T T
E o ‘ 1 4 }_.,4 4 i } l\_\ /
» WIRE ROPE CLIPS LT | | : | )
V] —_ i . I
e . WIR"E ROPE ) TURNBUCKLES ‘*11 Ty, T ! ‘ | . o J
| /4"DIA. , 7x 19 STNRAND ]‘. B ‘ e
. \\GALY. STEEL Al T CAB li e i ’
| o SNy _. _ 7T
° T > b o PLAN
= e SAF§TY NET- | [+ =+ (T T4 = 150 '
- - R S S| 5 1 ! ! i
—— —_ —— ’
co DETAIL A T i i
SEE CORNER DETAI | T POST B RAIL
7 SPACES @ 1332 = 9324 S S L LA, NET TO BE FABRICATED IN -l " 42:2 0D x 318 GALV. PIPE
LONGEST POSSIBLE PIECES. @2
¥
5832 o 2832 - g 1 4 M6 DIA. GALY MACHINE BOLT
5 A : WITH HEX NUT B WASHER
- 8030 3000 N i
v 3 3
i r - NOTES :
L
= | MILLER 25 NYLON WEBBING SAFETY NET :
I —— WEBBING ON 150 CENTRES WITH OPENINGS BETWEEN WEBBINGS 125
&) ALL CROSSINGS SEWN WITH BOX STITCH PATTERN TO ANSI AIO.IL
MILLER SAFETY © _H-W_____A_ £ 90 x 75 x 10 x 100 LONG 2 GALVANIZING :
% NET {SEE NOTE I.) 1:50 GALV. STL F'lb/TO ALL STEEL & FASTENERS HOT-DIPPED GALVANIZED AFTER
: FABRICATION IN ACCORDANCE TO CSA STANDARD G I64 -MI98I
\ | # T % %’ FIT INSIDE POST UNLESS OTHERWISE NOTED.
A S B
= T 3 STRUCTURAL STEEL:
" } ——— e L ¢ RING DETAIL (TYP TO CSA G40-2I-M 1981 GRADE 300W
ST - 4 ... 1220 - 1:20 4- BOLTS NUTS & WASHERS:
‘T - \ ‘ * T i (2) M6 BOLTS (TYP) NEOPRE!\;E WASHER Ql T0O ASTM A 325 -76C
(. | 6 x50 ' 5 WELDING:
] A \ 3" ALUM CHKD B | - SAFETY NET I2mm HOLES ,
2-£65x65x10 L | [RING(TYP.) ’ /g i "o SEE NOTE | ) N v aMuAN TO CSA W59 - 1977 UNLESS SPECIFIED OTHERWISE
o ~ | o 2402 R WIRE 34" ALUM CHKD \ | MANUFACTURER TO BE QUALIFIED TO CSA W47 2 - {978,
4 < | 2 .\ ROPE \ 6. WELDING ELECTRODES:
£65x65x10 ~_ a 0 o o £65%65x10 TO CSA W48-1-1976
NI 3 ki | l\.--_ ' : K ' SPACER 10 x 40 x 40 7 ALUMINUM CHKD. PLATE:
\ 2:£65x 65x10 gT f e /—L"’WI £65x65x 10 2£65x65x10 WITH MI6 BOLT. TO CSA H4A- 1975 - .6061T65]
70 =
e T e o R B 1332 R 10150 x 25 1 : 8 NEOPRENE WASHER
Jb 1 l |l 1' | ﬁlﬁ'ﬁ BOLTS R10x150x 125 TO CAN 3 -56-M78 CLAUSE 11.10 TABLE 40 GRADE (DOROMETER) 60
v ket |y ALUM STIFFENER- ' \ . 30 ' o
0 o i St =t R 3/8x150x850 L. 1 [ o P\ 1008 ——-
T "_"_l"_| i | . = ¢ BEAM 1 . : 250
Q o ] - ] 4:: ,\/ - : 1008
Y - [ SN
| I = T — ) \
Y v — — " . L -
I I o] 1 I 3 ALUM. SPACERS 3001_%? \ \ TENDER FINAL 7-4-83 7.
- i i T T T T T R :T:: LOCATED AT 3 PLACES - _
% : ‘: | _ { | | SEE PLAN AND SEE SECTION B-B (TYP) TENDER PRELIMINARY 08/03/83 ]
_][___ ot I T 7T v &]—“"*‘ T T SHEET 2. l- 20 No REVISION/MQCDIFICATION DATE (BY/PAR
g . ] L T | ‘ | 's' HOOK
h o T *ﬁﬁ' T T T T TRANSPORT CANADA TRANSPORTS CANADA
¥ ‘ Bl , i l L WELDEE; TO BEAM. (SEE CORNER SANABIAN 2BLAY SUARD GARDE COTIERE CANADIENNE
_ T ) ] . P ] & ® [ETA'L
— I Sp—— N—p— ' ' MARINE AIDS DIVISION DIVISION DES- AIDES - MARINE
| -
p‘ 75_ | | 340 340 | 34 391|400 J‘ 39) SECTION 'D-Q' SECTION A-A
— e 75 \ = = LL620 COLCHESTER REEF , LAKE ERIE ONTARIO
. HELIPORT
GALV(S" HOOKS)4mm D|A. |
x 80 mm LG TYP. SAFETY NET ARGT.
CORNER DETAIL (TYP.) DESGD/CONCU Dy, , [CHK'D/VERDEK _V.R|SCALE/  |DWG/DESSIN SHEET/
vee JoRAWN / DES ¢t ue'D/soumis y | ECHELLE o 5 O
iy ! HOWN - E
EATE DEC. 82 APP'D/APPR AS § CR-1568




< 1129 R
\\ Z & HINGE : (2 REQ'D) \
& £ Tr—'E"P_lER S/ST WITH 1" (25) DOOR LEAF AND \
| JAMB LEAF 1" (25) ATTACHED WITH S/ST \
4 of i P ‘ CSK SCREWS WITH NUTS (TACKED).
. /
4 ' : //”—/_/:—-'—— I
—f | o) .
3/ 1200 MIN It Ig R 1 9 PADLOCK
a o — —— o
w J
'] & ‘ HOOP 6 SHACKLE !7," (6) WITH RD PIN 3
-: ;F.* o - /(pm TACK WELDED BOTH ENDS) | :_
N @ ’ J ‘_
ol (iude—"— 3 \I
al b SAFETY NET ‘ : ﬁ ) ) ﬁr 100 |
¥ S FOR ARGT B DETAILS / W\ :
———4—1 (SEE SHEET 3) | T S cham Y (e I}Q.ée.r_i" »\
, = 3 ) TO BE CUT TO LENGTH - |
o — - - ON SITE. — === ‘
\ _ B _ ,
= 250 388 400 RAILING 30% BAR — h , j
5 i A SECTION F-F ) 3
a - — - o /__/
WJJ — o N.T.S. o
T SECTION G-G
APPROX. FIELD ADJUSTMENT — ) HING ARGT
PLAN T E
ALUMINUM GRATING : 1: 5
I: 20 TYP " " -
- 6 TYPE DB WELDED STD. "DOMINION BRIDGE Co' OR EQUIV. WITH — T
e < SMOOTH EDGE BEARING BARS I'x /g (25x3) @ | %g (30)c/c WITH TSR
" SEE DETAIL ) TWISTED CROSSBARS 44" (6) DIA. f§ 4" (102) c/c. SUPPORT 75 50
: = ‘ n S | -K——ﬁ;F - . 1144 £ 65x65x 10— . 3
it 1 ’
H 3 - = SAFETY | SLOT 100 x 14 -
- o <] e84 DOOR .
0 g e | > | Ls 30x50x6 \NET £ ; 50 _MI2 BOLT (GALV)
o 3 656 OPNG
EL. 101 541 TOP OF DECK | 9 - >
o~

M

i I

1 g — . -
— ' T % — L P el 10/525m N Ly |1 — e ———
2%a

T i
) ' 1
p

:A(;]y_

! tL . . T SEE_DETAILZN B— x> 4 / 150 150 | TY /f/‘ NOTE :
' i 7 ! 3 ] _ L 75x50x6 10/ FIELD WELD AFTER
h N ! 1 - miz sols—HF | | Rl | t '!I e ¥ / ] INSTALLATION &
l]i _ _ L GALV. L | €EE HINGE ARGT . . A REMOVE EXCESS
' ) ANGLE
x| 45
' ’ s X NS o 380 I\J/_ | | TYP "
| {4 | \' 2|0 OPNG ¢ Lacoer (] _ | 8 DETAIL @
\ TYP . = |
1 4 6 \ ‘ %% ‘I AN | | o 1110
: \ b OPEN SIDE | *. 40
« 1 7-Rs 8230 —— —3}| " supPoRT: - | H | ¢l | ! 192 Pall
T LE); (o] . R 6x 50 : > CROSSBAR | “ J | g \\ ' 8‘
wb I 2 {3 SIDES ONLY) . Ao : ' S \ ] Y L -—‘I: 7 RUNG : m —
| o ~ 125 APPROX. 7 = gle V8L L | A 308 BAR
: , L ,L VERIFY IN FIELD I 9| T 11 ol
.~ TOP OF RIER DATUM 100.00m | Jue . M . | ¥ ™ 2 B ‘ ' — \ 11§ ! ©| _ kel
1 v | — — [ 5
== 5+t | 1 ’E,:RL i £ 50x50x6 ﬂ-—-\— - : N 2 v : - " - STRINGER:
ﬁ H L 1 lew B - B ) . /,4‘/ [j 6 CL W 7Y 3 »~ P B Ty s <TYP L, L T75x30x8
bt - - Y 8 . -
C | . v C ‘ W TOP OF ANGLE | ., 7 . © ‘.I — | 174 < !
. . 5 ‘ ' _ SECTION C-C ATTACH WITH 5 258 BAR 5
ll OT A 3 | 1 PADLOCK: 10 SADDLE CLIPS @ 200 c/
i = @ /4’ (6) DIA. x 4" {100) LG. e TO ANGLE FRAME
e SHACKLE ~ 388 T e DETAIL @ DETAIL {3)
T N ‘ | 600 (SREQD) |
] - : T
S | X 3CINCH EXPANSION ANCHOR : 300 (5 REQD) |
o , /4 DIA. BOLTx300 LG 3 UNITS MI2 GALV BOLT
19-20 SQ BARS =4 GROUTED | /'
9 % ! !
. I | : - CHIP OFF ROCK SURFACE OF o bl | ﬁ N
D < Y | EXISTING PIER TO ACCOMMODATE - Y.: j— R
Y ‘ | LADDER SUPPORT BRACKEY T W A
- 9 ——— B 6 x 100 /. Ny
. ; Tre | EXISTING PIER &y \g
- | —5- &'s 6150 . i R 43 TYP
Q! ; — | 8
: , |
o 3 ; TYP - "Af - =
™ _ " § :E I15° 1 L1 SLOT 100« 14
4- R's 6x50 o = ?' 7 ok Ty P
Ty
| SECTION D-D g 12 T e
L P 1 o - " TT | FIELD WELD AFTER INSTALLATION
AT I ! " - 3 ‘ REMOV XC
T GLAZING | 3 d: 4 I 8 REMOVE EXCESS R
g v | | \?5‘
TYp | @ | 7/ DIA E |
= . —E x, WL i R6x50 | o g DIA. HOL L 50
S/ST MACHINE SCREW - . o PLASTIC GLAZING SHEET SIZES:
: “ B ' x 580 51375 DETAIL <@)
METAL STRIP WASHERS ! Gs
I 6 REQ'D ‘ | ' ’F' Vg’ x 2000 x 1375 10
|' 3 o ' T T - A . ),
i " X S | L @ /e % 280 x 1375 NOTE -
oo . FOR FABRICATION NOTES SEE SHEET 3.
X ' 5
A o | 388
X N | < —H :
i SUPPORTS f | | | . /\ |AS PER ADDENDUM NO. | 19-4-83
. %\m_ 2% 100 NOTE : ‘ | : 1, | : _ . : ~ %
| > - 4 " 1 e P
Cf . / T.SEE DETAIL (4) ' CONFIRM r(nmemsxons {rpj {; TENDER  FINAL 6 483
: INDICATED (%) BEFCRE SEE DETAIL Py .
i LADDER FABRICATION. @\_(”\% No. REVISION/MODIFICATION DATE |BY/PAR
@ S | 5 FHOLE TRANSPORT CANADA TRANSPORTS CANADA
Y o OF CAISSON Y "y Sl | SECTION E-E CANADIAN COAST GUARD GARDE COTIERE CANADIENNE
1 o * A< L 1 1 10 MARINE AIDS DIVISION CIVISION DES AIDES - MARINE
6 S € 500
w TOP OF BROKEN " <« 1l | &M x 30 LG S/ST RD HD MACHINE SCREW LL620 COLCHESTER REEF, LAKE ERIE ONTARIO
AWAY CONCRETE .l | WITH HEX NUT B WASHER HELIPORT
ACCESS LADDER ELEVATION | VIEW A-A PLASTIC SHEET ACCESS LADDER ARGT & DETAILS
| 0 20 I 20 ; ; =
SEALANT IDESG D/CONCU D |CHK'D/VER Dok V.P |SCALE/ OWG/DESSIN SHEET/
METAL STRIP WASHER 3 x 50 x 1375 (6 REQ'D) DRAWN/DESS 777 |SUB'D/SOUMIS CR-15680 4 9F o
DATE March 23 1983|APP'D/APPR ~=X | 2% Show" DE
—




NOTE E :

SURVEY THE PIER TO VERIFY THE EXISTING .
SURFACES FOR ALL ANCHQRAGES BEFORE FABRICATION.

-1 T
@ SLIDING

FIXED EXISTING PIER ;:;;"
_‘.;i:* : DETAIL

SEE NOTE E B

530 x 66 ; S
" T
SEE SHEET 2 NS ‘K:\ \ / L§ " .
> W 200 x 36 _ o | !
< \/E ~—W3I0x 97 STUB COLUMN \<? - K 5
Aﬁ R DETAIL \

EXISTING PIER

SEE NOTE €
___——— 25mm NON - SHRINK GROUT

7

'~

Of PIER

AN

SEE ANCHOR BOLT®

NN

3

;

—\"-.
—_———— P

1230

]

— EXISTING PIER

A 2. 7- Bk _: a
Cod e CONCRETE
‘-‘\“-n
o - _ ——
Y 1’ SEE ANCHOR BOLT DETAIL
| <7L~ CONCRETE OLD DECK
Y 1\ a STONE
STUD DETAIL ror LOCATION SEE SHEET 2
120
(»)
200 | 200
463?5"'” o | NOTES FOR SITEWORK
H L - ' -
' ; A. LOCATE ANCHOR BOLTS IN STONE WITH A MINIMUM EDGE
o —£1 . . DISTANCE OF 100mm. VERIFY ANCHOR BOLT LOCATION AND
R ﬂ' 8]‘ BASE PLATE SIZE IN FIELD BEFORE FABRICATION.
¢ — | _l;r i Ny B. DRILL FIRST ANCHOR BOLT HOLE COMPLETELY THROUGH STONE
," Y 2 AT EACH ANCHORAGE POINT. MEASURE AND REPORT THICKNESS OF
W3I0x 97 — | | “ Sy STONE TO ENGINEER BEFORE PROCEEDING WITH FURTHER WORK.
_4,__6___ _ -
’ ’ C. REMOVE MORTAR FROM BETWEEN STONES BEHIND AND WITHIN
400 mm OF THE EDGE OF THE BASE PLATE AND TO A DEPTH
B 25 % 520 x 520 OF 300 mm, REGROUT WITH HIGH EARLY STRENGTH GROUT.
¢ X Revx D. SURFACE BEHIND ANCHORAGES SHALL BE SOUND, FLAT, PLUMB
({OR LEVEL) TO RECEIVE GROUT.
#* SUBJECT TO MODIFICATION
120
SLIDING
FIXED
¢
4-30¢ 3 UNIT “ : l
CINCH ANCHCR l200 | 200
BOLTS GROUTED
IN CONCRETE .  aasE PLATE
(850 LONG.) E
——= 25 mm GROUT
Tp]
S
A Y
\
Zef- EXISTING PIER
CONCRETE
[
e "
| CONCRETE |
OLD DECK j
|
)y | PLATE DETAIL
- . ) C) R
: / 3 | 20
. | R
B sToNE  f|H // OPTIONAL ——» X
o /'/ 25 mm
: NON - SHRINK GROUT
Y
o IRV
3
s Q
K
E 3
Y ]
(X)ANCHOR BOLT DETAIL ¢
110
& 8
*l
Y

(Y).ANCHOR BOLT DETAIL ..,

4-30¢ 3 UNIT CINCH
ANCHOR BOLTS GROUTED
IN STONE.(5C0 LONG)

CUT INTO SURFACE OF EXISTING /

STONE MINIMUM

!A' ]

50 mm.

120
TENDER FINAL 7483 7
TENDER PRELIMINARY 08/03/83 |-FB.
No. REVISION/MODIFICATION DATE |BY/PAR

TRANSPORT CANADA
CANADIAN COAST GUARD
MARINE AIDS DIVISION

TRANSPORTS CANADA

GARDE COTIERE CANADIENNE
DIVISION DES AIDES - MARINE

LL620 COLCHESTER REEF, LAKE ERIE ONTARIO

HELIPORT
SITE WORK
DESGD/CONCU . |CHK'D/VERDEK WV.p[SCALE/  |DWG/DESSIN SHEET/
DRAWN/DESS &5, |suB'D/soumis 1 OF
: - sssiown | CR - 15680 > pe®
DATE FEB. 83 APP'D/APPR Jf d




